€

=

o

Nog §A vk 212

oo
Rl

Z7F 1000 DANA a% 2RI 714

@ (1000 -a) ¥ @ (1000 - 5a) ¥
® (1000 - 10a) ¥ @ (1000 - 100a) ¥

® -a ¥



D x+3=1=2x=-2

1
@ix:3=>x=6 ® 02x=04=2x=14

@ 3x=-12=>x=-4

® 2x-2=8=2x=10



<X
=

MPAA 20— 3 = 4 o4 B -3

3.

Wi},

o, @ PN 32
o},

gt

o] -3 = 9

o)

s

el 3 & o

o)



@ x=-17

-120

@ x

@ x=-140

® x =140

17

X



H7tx =14 o, a o] Go=

6]

ax+2=x-329

5.

® 4

@ 3



6. —;(Qx—5)+%(7x—4):ax+b%l m, a - b 9] gk= F-stofzt.

> S
=%



the B4 GEAE B Bote,

@ 3(x-1)=4-x
© 2(x-3)=2x-6
© 3x+4x=12

® —2(x+1)+6=4-2x

D R
2%
5 Rog

2%



Hlo

2x+1

Ul



e % WE A o) ofgo] £ e ALY

O x42=-1 - x=-1-2

@ —4x+6=0 — 6=4x

® 2x+5=5-x — 2x+x+5=5

@ -2x-3x=5x —> —-2x-3x-5x=0

® 8-6x=x-12 - —6x—x=-12+38



10. the F WA S 22 W, a o g Fotolet

2x—4=-x+2,3(x+a)-6x=3x

D R
=%



17F 22

5]

32x-1) = x+12 9

@ -4x+2=3(x-1)+5

2x—1

@® 3(x-1)

10

@ 4x-2(x-2)

@ 12x-6=2x+4

5x -7

® 2(x+1)



® 2x-4=—x
® 4(2+3x) = —6x-28

® -4(x-1)=2(x+38)






14.

(x—1):3=(3x+2) : 4 A x & gre?

© -2 @ -6 ® 0

@ 2



15.

3:2(x-3)=5:(x+4) & EH?



16. THe0] 54 20+ 3x = bx -8 o] 37} B45] WS W, £ G215 a b

o] k27

D a=-4,b=3
® a=-4,b=-3

®a=1,b=0

@ a=4,b=0

@ a=3 b=-4



17.

oh2 WA S ol7F x =3 Q1 AS IEA Q.

@D -3(x+2)=4
© x+3=2x-4

@ x+3=2x-4

© -2x-3)=0
® x-2=-3x+10

=
=%
5 S

=%




18.

A —4x -8 =16 = B7] 9l&l o
A AL o] gsto] S
etk (7h) Al ol1-8H 5

QS HEA 22 227

19 1 1o oxt

1> o o

DQa=b¥9Ya+c=b+c
@a=b¥dYa-c=b-c
@a=b¥ddYaxc=bxc
@Da=b¥dYa+c=b=+c

® olgst S49] o] glct.

—4r—8=16
b
—4r—8+8=16+8 :I( |

—4r=24

e



